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SEROMNE | EMES | 126B1028 [ Bl | JR/0-1 [ FrfEHh  [EFREHFHAGET R
, SERO TinlCHEET 51 SERHR
ﬁg TREOBBOEILHORES TREDHBESIENDOKRES TREOBEBDOEIEADKRES TREDHBEEILADKRES
S X 4 B | TiE, SO ER ﬁwk%&* X 4 TiHMLDKE| HS 7:0)7(%23 X 4 B | kmbhoolkE ﬁth%é X % LHishoDhE | & j:d)jtéfé
(m) (m) (kN/m) BB (m) (m) (kN/m) (m) (m) (kN/m) (m) (m) (kN/m)
1 100kN/m##8 2% 1.00|0.00 ~ 2.07 136.32| 3m%x#%25|0.00 ~ 0.17| 3.09 13.58| 100kN/mi%#8% % 1.00] 13.26 ~ 38.00 136.32| 3mz# % 5| 30.00 ~ 38.00| 3.09 13.58
zhnLlst 1.00] 2.07 ~ 8.76 100.00] =h Lot |0.17 ~ 8,76 3.00 13.20 Zhus 1.00] 5.00 ~ 13.26 100.00] =hList | 5.00 ~ 30.00| 3.00 13.20)
2 100kN/m%{B 2% 1.00{0.00 ~ 1.65 128.59|3m%x#%5%|0.00 ~ 0.97| 3.43 15.11| 100kN/m%#8% % 1.00| 14.49 ~ 40.66 128.59|3m#i#EZ 5| 40.00 ~ 40.66 3.43 15.11
Thest 1.00]1.65 ~ 8.34 100.00] =hrist |0.97 ~ 8.34] 3.00 13.20 Zhs 1.00] 5.00 ~ 14.49 100.00] Zhrist | 5.00 ~ 40.00| 3.00 13.20
3 100kN/m%#B % % 1.00{0.00 ~ 2.01 135.19|3m%x#%5%|0.00 ~ 1.13| 3.53 15.52| 100kN/mi%#B% % 1.00]| 13.49 ~ 40.60 135.19|3m%#E % 5| 30.00 ~ 40.60| 3.53 15.52
st 1.00[{2.01 ~ 8.70 100.00] =nli4t | 1.13 ~ 8.70| 3.00 13.20 st 1.00] 5.00 ~ 1349 100.00] =nld4t | 5.00 ~ 30.00f 3.00 13.20)
4 100kN/m##8 x5 1.00/0.00 ~ 1.84 132.02|3m%#%25%|0.00 ~ 1.06] 3.48 15.32| 100kN/mi%#8% % 1.00] 13.91 ~ 40.03 132.02| 3m%#%%| 30.00 ~ 40.03| 3.48 15.32
Zhilst 1.00]1.84 ~ 8.52 100.00] =hrist | 1.06 ~ 8.52| 3.00 13.20 Zhus 1.00] 5.00 ~ 13.91 100.00] =hrist | 5.00 ~ 30.00| 3.00 13.20)
5 100kN/mM#E{B 2% 1.00{0.00 ~ 1.60 127.73|3mZEB A5 -~ - - —| 100kN/m%E#BZ 3 1.00| 14.62 ~ 39.90 127.73| 3m%E{B %5 -~ - - -
zhust 1.00]1.60 ~ 8.29 100.00] =hkist |0.00 ~ 8.29] 297 13.06 Zhs 1.00] 5.00 ~ 14.62 100.00] ZhList | 5.00 ~ 39.90| 2.97 13.06
6 100kN/m##B % % 1.00{0.00 ~ 0.65 110.97|3m#%i#E 25| 0.00 ~ 0.59| 3.24 14.26| 100kN/m%#BZ % 1.00] 20.24 ~ 41.58 110.97|3m#%#E A 5| 40.00 ~ 41.58| 3.24 14.26
st 1.00{0.65 ~ 7.34 100.00] =n 4t 059 ~ 7.34| 3.00 13.20 Fhn st 1.00] 5.00 ~ 20.24 100.00] =nli4t | 5.00 ~ 40.00f 3.00 13.20)
100kN/m%8 2% ~ ImEAEZD ~ 100kN/ M%#BZ % ~ ImEAEZD ~
Zh Lot ~ ZHLst ~ Zhlst ~ ZHLst ~
100kN/m% 82 % ~ ImEABZD ~ 100kN/ Mm% 825 ~ ImEABZD ~
Zh Lot ~ ZHLIs ~ ZhLlst ~ ZHLLst ~
100kN/m##8 2% ~ ImEHBZD ~ 100kN/ mM##BZ % ~ ImEHBZD ~
zhnLlst ~ ZhLst ~ Zhus ~ ZhLlst ~
100kN/ Mm% 2% ~ ImEBZD ~ 100kN/ Mm% 2% ~ ImEHEAD ~
Thest ~ ThLst ~ Zhs ~ ThLlst ~
100kN/m% 82 % ~ ImEHEZD ~ 100kN/ Mm% #2825 ~ ImEHEAD ~
zh st ~ st ~ zhust ~ st ~
100kN/m##8 x5 ~ ImEHBZD ~ 100kN/ mM##BZ % ~ ImEHBZD ~
Zh Lot ~ ZnList ~ Zhlst ~ ZhnLs ~
100kN/ Mm% x5 ~ ImEBZD ~ 100kN/ Mm% 2% ~ ImEHEAD ~
Thlst ~ Thlst ~ Zhs ~ ZThlst ~
100kN/ Mm% 2% ~ ImEHEZD ~ 100kN/M%#B% % ~ ImEBZD ~
Rt ~ st ~ st ~ st ~
100kN/m%8 2% ~ ImEABZD ~ 100kN/ M%#BZ % ~ ImEAEZD ~
Zh Lot ~ ZHList ~ Zhlsh ~ ZHLst ~ _
aFR



